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2
If 147% of a no. is added with itself then

result becomes 8000. Find the original no.

TR fordt T 14%%?@ﬁ?ﬁ@jﬁmm?ﬁ 8000

A1 21 afate & | H
(A) 8000 (B) 7000
(C) 8200 (D) 7900
1
Ifl 15 % of ano. is added with itself then rsult

becomes 9000. Find the original no.

3R et Gem = llé%eﬁrﬁaﬁgﬁmma‘wooo

AT 2| St g@ T S
(A) 8100 (B) 7800
(C) 8200 (D) 7900

2
If 16§ % of a no. is subtracted from itself

then result becomes 500. Find the original
no.

wwmwm%%mwwﬁmmaﬁ

500 &1 B1 SRfas @A T F
(A) 500 (B) 600
(C) 700 (D) 800

3
If 182 % of a no. is subtracted from itself

then result becomes 1300. Find the original
no.

TR e} dEm 1 18%%?@&@&3?@13&%

1300 a1 7| STEAfR TEAT W R

(A) 1400 (B) 1500

(C) 1600 (D) 1700

A man donates 4% of his income in charity

Maths »y Bhagwati Prasad Sir

and deposits 10% of the rest in the bank. If
he still has 21600 rupees left with him, then

find his income.

T AR ST ST T 4% TH H IH FIA 2 AT H
10% Seh W STHT a1 21 A ST T 31f off 21,600
TN B, A STHT AT FA BN

(A) 35,000 &7 (B) 25,000 &5

(C) 50,000 &9 (D) 20,000 9

2
The population of a city increases by 165%

1
in the first year, decreases by 375% in

second year and again increases by 57; %o

in the third year. Find the present
population of the city if the total population
after three years will be 5,30,000.

T IR HI TGS e T 162% et ¢ TR T

37%% et & o A 57;% T & 7w

IR H FAAE @A BT AR 3 T 9] I 6T
I SEEEA 530,000 B ST

(A) 1,44,000 (B) 2,84,000

(C) 2,88,000 (D) 2,68,000

A man spent 5% of his income on transport,
20% of the remaining on food and further

donates Rs. 120. If he is left with Rs. 1400,
find his income.

T AR ST 3T &1 5 Ffaerd i@ W @ &
2 o H 20 gl W W @ FE © 120 B TF
off %1 21 A 3T U el o 1400 & 9 B A SEH
3 T BANT?

(A) 1,500 9%
(C) 2,500 &9

(B) 2,000 €&
(D) 3,000
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8.

10.

11.

A manufacturer sold his goods to a
wholesaler at a profit of 25% . The
wholesaler sold it to a retailer at 20% profit.
The retailer further sold it to a customer at
a profit of 28%. Find the cost price of the
goods for the manufacturer if the customer
purchased it at Rs. 9600.

T IR ThEl offh SATIR i SToT a%qd 25 Wfawrd
F A W =l © AR ik AN HEeh SR i
20 W9 o9 W S € 3R EEehl AR UEeh whi
28 AT & o W el § al Scueew & ford 39
IR H ATHA oA F1 BT A AEH 3T 9600 T
I 72

(A) 2,500 (B) 3,000

(C) 3,500 (D) 5,000

When the cost of tickets is decreased by
10% at a theatre, the sale of tickets there

1
increases by 577 %. Find the percentage

change in the income of the theatre.

e R # fefre 9 Fd 57;% .

9 fefere &1 ®ima 10 9faed & =2 STt © 9 SHe!
3 fRae % w2 A1 5 Se?

3 2
(A) 42—-% (B) 42-%
7 7

2 3
(C) 42 —% (D) 41—%
7 7

If the length of a rectangle is increased

1
by 375% and its breath is decreased by

20% find the percentage change in its area.

IR fordht o1 ot o 37%%@%@1%@%20%

o E @ AR W FA Tk TSI

(A) 12% (B) 14%

(C) 10% (D) 8%

If sides of a square is increased by 40%, find
the percentage change in its area.

3R TRt ot it SIS 40% o1 & ST o STF &Awe
W T Y9E qgM?

Percentage | ufasra

12.

13.

14.

15.

16.

(A) 96% (B) 94%

(C) 98% (D) 97%

If radius of a circle i increasd by 5%, then
the increase in its area is:

I g w1 A 5% T FeT I AW A IHh ATHA

" forat gfg grm?
(A) 10.50% (B) 5.75%
(C) 10% (D) 5%

The percentage increasein the surface area
of a cube, when eachside is double is:

e Teh B T T I QA L A M A S T3

el ® i gfg e
(A) 200% (B) 300%
(C) 150% (D) 50%

A man spends 60% of his income. If his
income is increased by 15% and his
expenditure is increased by 15%, find the
percentage change in his saving.

T ARH! ST ST T 60% TH FIA I SR SHRT
3 15% =g WIT 3R IHH TH 15% §¢ I q SHh!
Faad § frad wfom sgame s ?

(A) 20% (B) 18%

(C) 15% (D) 16%

A man spends 75% of his income. If his
income is incresed by 20% & expenditure is
increased by 10% find the % change in the
saving.

TS STEH ST T T 75% T FIAT 21 SR ITH!
™ 20% 9g WY AR @™ 10% 9€ S a1 o T 0
W TS?

(A) 35% (B) 50%

(C) 45% (D) 55%

The monthly income of Shivam Parashar sir
was Rs. 13,500 and his monthly expenditure
was Rs.9000. Next year his income
increased by 14% and his expenditure
increased by 7%. The percentage increase
in his savings was:

Ty TITR W 1 }fHE Aq 13500 T € 3R @R
AR @ 9000 T. B ST o ST e 14% & Sl
2 3N 3T W 7% 9 W 2, A ST q=a H yrawrd

afs s w2
(A) 7% (B) 21%
(C) 28% (D) 35%
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17.

18.

19.

20.

21.

Bipin Ji spends 75% of his income and
saves the ret. His income is increasesd by
25% and he increases his expenditure by
10%. Then the increase in aving (in
percentage) is:

fafem St oo a9 1 75% T Fa1 7 qe 9 At
Y =G HQ | TR AT 25% 9 TN Al IR A

Td &t 10% a1 @, @ 379 5=a ¥ fowae wfaea

i 3f5 7
(A) 50% (B) 52%
(C) 45% (D) 70%

In a fresh watermelon, weighing 20 kgs, the
water quantity is 96%. After 5 days, the
water quantity reduces to 95% due to
evaporation. How much does the
watermelon weigh now?

20 T, & T A S W 96 Wiaw qE B 5 feHt
% I ATSUHIOT F HROT TS H U FHTOHET 95
wiaer @ S © dl o1 RSl 1 ae feha 7

(A) 8 T (B) 12 fwur

(C) 14 fwam (D) 16 T

A fresh fruit contains 68% water and a dry fruit

contains 20% water. How many kgs of dry fruits
can be made from 75 kgs of fresh fruits?

A Tl o 68 Uferd art € oIk g@ well ° 20 wfaew
e ® 75 TR ot el § R 9@ e S S
TEHA 87

(A) 10 fem. (B) 20 fem.

(C) 30 fem. (D) 40 fm.

In an election between two candidates, one
candidate gets 84% of the votes and he wins

by a margin of 476 votes. Find the total
number of valid votes.

T AR % o9 TF gIE H UH SHIAR Hi 84
yfasTa oie U B ® SR o' 476 @@ 9 Sid S 2

At aifen foe o ot fha aed €2
(A) 600 (B) 700
(C) 1400 (D) 2100

In an election between two candidates, one
candidate gets 55% of the total valid votes,
while 20% of the votes were declared
invalid. If the total number of votes was
7500, find the total number of votes
obtained by the other candidate.

T SHITER % " T 9IS H SHITER H1 9H ae
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22.

23.

24.

25.

= SAFALTA CLAS

nnnnnnnnnn by PRI

1 55 Yia9rd dIe I g & 20 e die s it
R & St € A ot e 7500 a7 @ W IFHRIR
&1 forae are faat?

(A) 3000 (B) 2300

(C) 2400 (D) 2700

In an election, 10% of the voters did not vote

1
and 115% of the votes were declared

invalid; the winner got 75% of the total valid
votes. If he won by 2000 votes, then find the
total number of voters.

et g & 10 gfer SHHIRER A Tl S 11%%
e e S Y & S © R Sfe At gt
o1 Tl 1 75 Wfcerd die Wt B € R 97 2000 Sl
T it S € d wsiiehd At s e # g2
(A) 5500 (B) 5000

(C) 6000 (D) 6500
The cost of a machine is ¥ 6250. If it
decreases by 10% during the first year, 20%
during the second year and 30% during the

third year. What will be the cost of the
machine after 3 years?

T A T qod 26 250 71 TES o8 § THHRI ToF 10%
T a8 | 20% o R ad | 30% wedr 7, @ 3 o

& 1% R T qed F1 B2
(A) 1000 (B) 3150
(C) 947.10 (D) 800

A number is decreased by 25% and then
increased by 25%. The number so obtained
is 8 less than the original number. What was
the original number?

Teh T I e 25% HIE Wl € AR T 25% =@
fan ST 1 9 YRR W TEA, g G ° 8 Y e
Tt T g T A efi?

(A) 128 (B) 144

(C) 136 (D) 114

In a class, 60% of the students pass in Hindi
and 45% pass in Sanskrit. If 25% of them
pass in both subjects, what percentage of the
students fail in both the subjects?

TH Hel H 60% B &t W Tohat d° 45% S Tehd |
e B 1 A ST W 25% w TH fawE § et g
&, < fawe o fore wiaw oo s gu?

(A) 80% (B) 75%

(C) 20% (D) 25%
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26.

27.

28.

29.

In an examination 70% of the candidates
passed in English, 80% passed in
Mathematics ,10% failed in both the subjects.
If 144 candidates passed in both, the total
number of candidates were:
T W& H 70% WA SISt 9, 80% it o §
THA T 1 10% AT I famal § e B 2
I 144 wfERh < faoal § 9w e €, @ it
FH A T& A A7
(A) 125 (B) 200
(C) 240 (D) 375
A candidate secured 30% marks in an
examination and failed by 6 marks. Another
secured 40% marks and got 6 marks more than
the pass marks. The maximum marks are:
Tk BT %1 T T § 30% 3 WK gC 3R € 6 Heh!
Y STHEA T T T T B Hl 40% h I Y I
Il ¥ 6 3 Afueh U gY@ Aferhan 37 RN
&2
(A) 150 (B) 120
(C) 100 (D) 180
In an examination, a candidate must secure
40% marks to pass. A candidate, who gets
220 marks, fails by 20 marks. Find the
maximum marks for the examination.
T qhe H 3t €N % o 40% i st € T
et <hT 220 ‘37 W BT E 3R 9 20 TR Y ST
2 ST, qden | sferhan 3 fha 97
(A) 1200 (B) 300
(C) 600 (D) 450
A candidate who gets 20% marks in an
examination fails by 30 marks but another
candidate who gets 32% gets 42 marks
more than the pass marks. Then the
percentage of pass marks is:

forelt wfeant =61 wek wdten & 20% 3w 9t i € 3R
g 30 ki Y SFTAHA & Il 2 AR W T A
32% 3%k W< B € 3R 9 SxAvieh 9 42 3 At
W e € o Swivl ek wiaw o @2
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30.

31.

32.

33.

(A) 52% (B) 50%
(C) 33% (D) 25%
A candidate who scores 30 percent fails by

5 marks, while another candidate who
scores 40 percent marks gets 10 more
marks than minimum pass mark. The
minimum marks required topass are:

Tk WREnTt i 30% 3 W B © SR °% 5 3Rl 9
ST B Wl 7, STafsh IO UAERT HT 40% 3 U
2§ 3R 3U T 9 10 i AfuE wrw B 2,

@ sl @@ 22
(A) 50 (B) 70
(C) 100 (D) 150

The price of sugar increased by 20% By how
much percentage the consumption is
reduced so that expenditure will bot
increase?

=T T A H 20% 1 gfs ggl @Id § fhad gfaem
FT FHH DI ST qUME @ 7 9@ 7

1
(A) 16% (B) 16 %

©) 17% D) 16%

The price of rise decreased by10% due to
which Sharma ji used 50s kg more rice in
Rs. 500. Find original consumption.

TEA HT HAT 10% FH AT a9 § TE S % 500 H
50 forn st = wiEd € wRfT Tea T s
(A) 500 kg (B) 420 kg

(C) 460 kg (D) 450 kg

The price of sugar is increased by 30%. Due
to this Shukla Ji use 20 kg less sugar so as
expenditure will increase by 10% only. Find
original consumption.

HIAA | 30% FI Ihg i aoe 9 Ya st 20 forar A
=T W e €1 R T head 10% g §e | ardfesh

Tud T H
(A) 180 kg (B) 160 kg
(C) 140 kg (D) 130 kg
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